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7 100kN/ Mm% Z % — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — —|3m%iBZ % - ~ — — —
zhLst 1.00 | 000 ~ 672 84.96 | Thist 000 ~ 672 1.84 9.86 zhLst 1.00 | 6.00 ~ 830 84.96 | #nS | 5,00 ~ 830 | 1.84 9.86
2 100kN/m%#8z% | 1.00 | 000 ~ 0.02| 100.24 |3mEBz2%| — ~ — — — | 100kN/m%#8=2% | 1.00 | 11.30 ~ 11.34| 100.24 |3m%E#BZ% - ~ — — —
zhLst 1.00 | 002 ~ 780 100.00 | #nhst | 000 ~ 780 2.39 12.81 zhLst 1.00 | 56,00 ~ 1130 100.00| FnLS | 5,00 ~ 11.31| 2.39 12.81
3 100kN/ Mm% Z 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — —|3m%iBZ % - ~ — — —
Fhst 1.00 | 0.o0o ~ 739 94.23 | =L | 000 ~ 739 1.79 9.58 Fhst 1.00 | 5.00 ~ 9.57 94.23 | =nhst | .00 ~ 957 1.79 9.58
p 100kN/mM%E#BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/mM%#8% % — - ~ — —|3m%iBZ % - ~ — — —
Zhst 1.00 | 0.o0o ~ 740 94.42 | =hLs | 000 ~ 0.00) 1.67 8.92 Zhst 1.00 | 5.00 ~ 9.90 94.42 | =ns | 500 ~ 9.90| 1.67 892
5 100kN/m##8z% | 1.00 | 000 ~ 1.82| 12796 |3m&xBz%| — ~ — — — | 100kN/m%#z25 | 1.00 | 1064 ~ 17.76| 127.96 |3mE#¥z3 - ~ — — —
zhLst 100|182 ~ 960 100.00 | #nst | 000 ~ 9.60| 230 12.30 zhLst 1.00 ] 56.00 ~ 1064 100.00| FnLS | 5,00 ~ 17.76 | 2.530 12.30
P 100kN/mM#E#BZ5 | 1.00 | 000 ~ 224 134.79 |3mZ#BAB| — ~ — — — | 100kN/mM%E#z25 | 1.00 | 11.52 ~ 2767 134.79 |3mE#z23 - ~ — — —
Zhst 1.00 | 224 ~ 1002 100.00 | FhLS | 000 ~ 1002] 2.79 14.91 zhLst 1.00 | 6.00 ~ 1152 100.00 | Tns | 6.00 ~ 2767 2.79 14.91
- 100kN/m##8%z% | 1.00 | 000 ~ 206 131.88 |3m&xBz%| — ~ — — — | 100kN/m%#z25 | 1.00 | 11.93 ~ 2837| 131.88 |3m&x#z3 - ~ — — —
Thilst 1.00 | 206 ~ 9.84 100.00 | #nist | 000 ~ 984 | 275 14.70 Thilst 1.00 | 6.00 ~ 1193 100.00 | TnLS | 6.00 ~ 2837 2.756 14.70
3 100kN/m%Z#B25 | 1.00 | 000 ~ 208| 13215 |3mE8BZB| — ~ — — — | 100kN/iZ#825% | 1.00 | 11.90 ~ 2837 13213 |3m%EiBz% -~ — — —
Thilst 100|208 ~ 986\ 100.00| ThiH | 000 ~ 986 2.75 14.71 st 1.00 | 6.00 ~ 1190 100.00 | TnS | 6.00 ~ 2837 2.756 14.71
9 100kN/m%Z#B25 | 1.00 | 000 ~ 208| 13222 |3m&E8BZB| — ~ — — — | 100kN/m%E#BZ25 | 1.00 | 11.81 ~ 2759 13222 |3mx#Bzi% -~ — — —
Thilst 100|208 ~ 987\ 100.00| ThiH | 000 ~ 987|276 14.75 Thilst 1.00 | 6.00 ~ 1181 100.00 | =nLst | 6.00 ~ 27.59| 2.76 14.756
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zh s ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zhusn ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zhusn ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zh s ~
100kN/M%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zh s ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Thst ~ Thst ~ ZThst ~ Zh s ~




